[> discrim(x”2+a*x+b,x);

[> discrim(x"3+a*x"2+b*x+c,X);

[> discrim(x"4+a*x"2+b*x+c,X);
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[> discrim(x"5+a*x"4+b*x"3+c*x"2+d*x+e,X);
18b3cazed— 80bcza3de—2050bcezad— 746bceazd2 —41)2¢‘3aze+1)2¢‘202¢i2 + 18 h¢

— 80 cad’ —630h cae® —630bc de+ 18bhc ad” —T2hctae—T2b cde+ 1440
+144bc7d  —3750bce’ + 825 P+ 160 Ce—4ab Fd -6l d d +2000cd €
—36ea d° —1600ed ¢ —2500¢" ad — 50> a® d® + 2000 d* b+ 2250a b ¢ + 2250d ¢
—1600ha ¢ — 192ad' c+ 1448 d* p—av d* d -270 ¥ 274 d* —1284° B + 1

+256a ¢ +356b° cCade+3125¢  +144cated? + 245 P de+ 10208 B e*d + 160 ¢



[> for i from -3 to 10 do galois(x“4+i*x +12); sqrt(discrim(x"4+i*x +12,x)
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